a2 | (RAURRBK

1. RYT—E AP RIFKDEERFBEDHER

(FmEaEr)
X1 x2
FHHBEE x HEAEE x ZEEAEXR(Db) = mMBYVOXEENE
(a) 0.16014 (c)
(GZEYE] X1 %2
FEHHHE x MEREE x ZERAEERD) = mMBYOEEEANE
(a”) 0.16014 (c")

RYR—EAVMRAKIFICETHFEAEIL LVBOETEFELE]IX4

TEER 34.7% x (e) = (f)
I EYER 65.3% x (e) = (f)

RUR—E AN RIKIEICHITHEERMELLE)
# +¢F)= F

1. A—H—RBUOEAFHEEOFYELTZHMLI L L TEE (48)
2. 20 255ENERBRORBHECONT (2H) [(HERHOIHBE)
¥ 3. A—H—EHHOBHEEOTHELZLEGI L LTEBEH (48)
4. BKIEBRBICHTIFEESEILEYBOBEIEBELRICONT (4H)

2. TABRERBKDEERFEEDOFHERK

(FE#H-I EYEBDORBIEL]

*1 2
THHFHR x HBERBER x ZAEGAEERD) = mMHYOEERENE
(a) 0.16014 (e)

(TAMBEERBKIEICBITSEERMELR)
(e)

1. A—H—BHORFFBHEOTFELZLES & L TEE (458)

2. 2025 FENDRRBROREHE(IZIONT (25H) (RREHBDIFE]
3. A—H—RUOBRHEEOFIEFREH M E LTEH (48)

3. EAVIRMKDEERFBER(KEFRFWREFR 2011ER THAHTZEREILY)

%3
mHYOEEEFIE T EREHEAT
(c) = (d) X 100
EERNER
= (e)
X3
mHYDEEEFE TR ETEAE
(c”) = d”) X 100
EERNER
= (&)
X3
mAYOREEFE T EREH
(c) + (d) X 100
EERHER
= (e)

miEaAEE FEIE HEEE

RUR—t AU RREEK 0.7551 X F = (F1)

TAERBE RIGK 0. 2449 x (e) = (e1)
& & (F1)+(e1)




